o
(¥
X
fay
o
&

<3 @> (rad)
o
=
(6)]

o
i

0.05]

(@)
LRI I L L T I LN DR

|
e O
o N

e e
= .
— 0
oy —
———
>

i

TP n (PCA to beamline)

x107°

< d cot(B) >
o
= 9
[6)] N

o
i

(@)
LR L L L L L RN AR

|
e O
o N

A i
1| T i
G TR L DY O = 1111 NS
LTSI, SIS SR (A1 1
LR T T )| |
! i
-2

0 1 2 3
TP n (PCA to beamline)

— DQV ariginal s[epZ [[Eiar-p asel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

=
o
o

<0 dy > (um)
()] (o)
e

N
o
T

20

TT T [T LT T 1T

|
N
o
T

<opJp,> (%)

Ratio

3
TP n (PCA to beamline)

— 100

...................
: : : h
I M“ﬂ% :
U PSPPI SO 3
b D Feeeees e
A

TP n (PCA to beamline)



	Contents
	Page 1


